LONG MULTIPLICATION

3-DIGIT BY 1-DIGIT (WITHOUT REGROUPING)
WORKSHEET - 8

625 577 915 494

x 3 x 8 x 7 x7

15 56 35 28

+ 60 + 560 + 70 + 630
+ 1800 + 4000 + 6300 + 2800
= 1875 = 4616 = 6405 = 3458
846 752 802 164

x5 X 4 X9 x 7

30 8 18 28

+ 200 + 200 + 0 + 420
+ 4000 + 2800 + 7200 + 700
= 4230 = 3008 = 7218 = 1148
416 386 607 291

x 8 x4 x 4 X 6

48 24 28 6

+ 80 + 320 + 0 + 540
+ 3200 + 1200 + 2400 + 1200
= 3328 = 1544 = 2428 = 1746
188 355 497 870

x5 x 7 x 3 x 6

40 35 21 0

+ 400 + 350 + 270 + 420
+ 500 + 2100 + 1200 + 4800
= 940 = 2485 = 1491 = 5220
502 618 830 382

x 9 x5 x4 x7

18 40 0 14

+ 0 + 50 + 120 + 560
+ 4500 + 3000 + 3200 + 2100
= 4518 = 3090 = 3320 = 2674
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